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L 10.' ‘A cireus artist is ci:mbmg from lhc ground ctlong a ropc snuchcd from lhc lop ofa vertical pol

“and tied at the & ground. The hc:ght ot thc po!t. is. 15 m and the angle madc by the rope with ground le
is 43°. 'I'ln,'d:slancc covered by th !
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.. The inner urcumt'crcm.c of a circulur tmc_k is 22{} m. ThL ll“d{.k is 7 n \-\-’Idt., u u-y W 10K '
= 1hc cost of pulllng up a fence dlnng the-outer circle at the rate of T 4 per metre. .o [Use's
— 120 How nmnj,r times WLE! l]'lt., whu.] 01 ear rolal:_ in 3journc_y of ”(}0" m, :1 thc_ radius nt the whu.!

14 Thrt,c cubes w hosc cdgcq mcnsurc& cm 4 cm :lnd

' F:nd its edge: Also. find the sitrface arey of the new “ciibe,
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28,7 A'solid spht_rt. of diamiéter 14 e is cul into two Halves by a phnc pa‘zamL thronﬂh the ccmrc.'_ o
' -.j ' Fmd Ihc combmcd surfacc ared’ of the, two: hcnns‘phcres S0 fonm_d e 5

Qm.snon numbers 7’9 fo 34 carry n.'anl.s'ef."c"h
_ 129, A motor boat whose spcuj is 18 knvh in still Water ta es | hour mnn. to go
N Ihan to retum downqlrcam Io IhL same spot Fmd the' spu:d of ¢ stn.am
RIS glrl is fwice as old as hcr sister. Four ye.ar‘: hcnu: th product 01 Ihur ag{,s {m yca
L Fmd their present agcs :

w1 300 Jaipal Singh’ rcpays' thc tolal Ioan 0[' ? ] !8000 by paymg cvcry month 3t
dnstalmcm of T 1000. If he in¢reases the instalment by T100 every month, wha )
h:m in the 30th ingtalmient 7 What amiotint ‘of foan does he still have 1o pay
-t 300 In figure; AB and CD are two paratlel tangents to a eircle wi
belw:_cn thc two paraiicl mm,cms louchmg lhc urch. at Q Show th'

g with the first:
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L 33 From a bu:ldmg 60 metres hlgh thc
are 30° and 60° respectively: Find the dis
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s Dmmcler of the wheel = 70 em Or X 1056 12 650 {1me‘;
.42 cm? R ATINE B
. Edge of new cubt, <6 cm, Surtacc drea of lhe few cubc = 2!6 em? .

'Con'icculwc odd numbers = 13 and ES or — 15 and - 16 BP = = 12, 6 cm (appr %)




